8RO ihRFER RS

< EHEBY/IRmEE
EAE i

#ME
(4] £l EiE e L] B4
Eix [EE]
BPY41 — GCr15 SUJ2 7N FRIRIE(S45C)
BPY43 e 5 | me 9Cr18Mo | SUS440C | 7NAIRIE(SUS304)
BPY61 | RE > GCr15 SUJ2 N FIZNE(S45C)
BPY63 9Cr18Mo | SUS440C | 7XAIRIE(SUS304)
O % OiABEEEINEEENNE.
O FE: EARESRBANEREREK, S2%E. A, RENSERSRIAF.
[EHERY
(d3~10) | (d12~20)
BPY41/43 | BPY41/43
L : ‘ L
. 5 -
< | ~ ‘ di
R 3 v
1 (] ol
T Ho ©4@EEEd o
\u ‘J:L‘ i ﬁ‘ \ LH»‘
I M i ] e M
i 0
C,]/M % c1/ B-0.12 ‘
B1 ! B1
HER 1
(d3~10) I (d12~20)
BPY61/63 ! BPY61/63
L L
v i Vi
< 3 ‘r‘ di
: v
- |
| il il .
A R CACIGRRE 1= = Bl
: LG H =R
M 3 il
0 3 R13/|_BSn
R13 B-0.12 3 -
o | e, 7
Mt $—0N/
E=] H BTFRE | BFRE S
o) dnr D % B | Bt VY wmERreR (N (rpm) (@
3 10 | M3x0.5 7 8 17 5 2 2 238 3200 6.3
4 o 12 | M4x0.7 8 9 20 6 25| 25 350 2760 11.4
5 -0012 [ 13 [ M5x0.8 9 | 10 23 75 3 3 406 2510 15
6 16 [ M6x1.0 | . [ 4, 28 8 460 2230 20
8 19 | M8x1.25 32 — [10 — 4 4 504 1960 34
gen oo | o e
BPY4s [T P e 12| 12 36 12 3 g 555 1760 52
BREE 26 : 592 1560 65
BPY61 30 728 1390 93
BPY63 12 . 33 M12x15 | 14 | 15 40 , 13 6 6 ] 729 330 1
16 | 9018 [ 35 |M16x1.56 | 18 | 19.5 | 52 17 z / 840 1230 180
18 40 |M18x1.5 | 20 | 21.5 | 58 21 886 1080 270
o 47 1100 930 400
20 Soz [55|M20x15 | 24 | 255 | 66 4 | 25 9 | 10 8 044 30 480
@ d3~d10MI&IR BB BIE N 7T 7L, O FEFRELPEE = 10km/hBTRIEE.
E) @ fiEmn T
@ . {’cfE.‘y a] P * = 0~ -
O D _~ & [100% | BFRA
BRERT BPY“ 6 16 KB GT)

BPY41—d5—D13




